Mathématiques 4e Ch2: Ln/exp

Théoréeme
Iim (1+l) —e
X=>+00 X

Démonstration

On écrit : (l+—

X
72N 2 PPt ]
ln(1+i)
1
=
[ARG 2 i oot e e e e e e e e e e e et aaaraaaaaaaaeaeaaaaa ]
In(1+4)
—e h
[ARG 3 i oo e e e e e e e e e e e e e baaaaraaaeaaaaaraaaa ]

1 X In(1+7%)
Donc : lim (1+—) =lime "’
X400 X h=>0

LARG 4 & ooeeeoeoeeeeoeoeoeeeeeeoeeeeeeeeeeeeeeeeeeeeeeee ]
. In(1+A4)—1In(1
Or on sait que : In’(1)=lim n( )=In(1)
70
LARG 5 & oo ]
—lim In(1+h)
>0 h
N
etque: In'(x)=—, ¥ x>0
X

1 jmd



Mathématiques 4e

Ch2: Ln/exp

TN LG T

dou: In'(1)=1

X In(1+%)
L 1 X p
Revenonsa lim [1+— | =lim e
X400 X h=0

i In(1+h)
—pr0 b
[ARG 8 1 e
1
=e
[ARG O & oo

..................................... ]

jmd



	Théorème

